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k

Tn a pn junction diode, if the junction current IS Zero, this means that . ¢ )

(1) there is no carriers crossing the junction

(2) the number of majority carriers crossing the junction equals the number of minority.

crossing the junction ' i
from the n-region
(4) the potential barriers has disappeared

The circuit shown in Fig. 1 acts as

(1) clamper

(2) rectifier

(3) comparator

(4) clipper T

fjon transistor is more heavily doped than the base region

i

s * ( )

so that i, o
- will be high

& £ . +. . ~
across the base region will be mainly because of electrons

o

(2) 5 th@ *}I'ow

s

e
" :?:,)?% - ,R&:};E@q o
g i

% kgt : : ; :
sombinations will be increased in the base region
b

G

A field-effect transistor (FET)
(1) depends on minority-carrier flow

(2) uses high concentration emitter junction
(3) has a very high input resistance

(4) uses forward-biased pn junction
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S0 In a haif wave rectlﬁer the load current flows for o : e ) ( ")

'- 'E_._.:__J:(1) onjy for posmve half cycle of mput s1gnal

o f(g. thy .complete cycle of the mput s1gna1 :
' (3) mor'_'__ than half cycle but less than the comple;e cycle of mpui s1gnal
""(4) lcss than half cycle of mput 51gna1

4

b '-_A tran31stor IS said to be in a qu1cscent state when
' (1) no currents are ﬂowmg -
(2_) en:ntter-; unction bias is Ju_st_ equal to collector-junction bias

__('3') o Si-gnal_ is applied to the input

(4) it is unbiased
1= :C.omp'a'réd to CB amplifier, the CE amplifier has
(D) _hjgher current amplification
(2) lower input resistance
(3) higher output resistance

- (4) lower current amplification

8. ()
(1) 18 near saturation point
(2) is near cut-off point

. (3) has optimﬂm value

9. g& operating point against

VEIII%@TIS in ﬁ’iﬁ;;& &Q@g’é ; o )
! .'.&"3\» % wa :
the & of the transistor ; I

(4) neither B nor temperature

10. “Which of the following class of amplifiers has hi.ghest among of distortion ? R
(1) class C . (2) classAB
(3) classB (4) ciassA
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11. Tuned voltage amplifiers are not used ; (e
(1) in radio receivers | '
(2) whe.re a band of frequencies is to be selected and amplified
(3) in television receivers
(4) in a public-address systems
12. Feedback in a amplifier always helps to : S Ead)
(1) increase its gain |
(2) stabilize its gain
3) decrease its input 1rnpedance
(4) control its output
13. Anideal OP-AMP has
(1) infinite input resistance and infinite output resistance

(2) infinite input resistance and zero output resistance

(3) zero input resistance and infinite output resistance

(4) zero input resistance and zero output resistance &§§§ 429» k-
14. For square wave generation __is used. = Ll
(1) bistable multivibrator
(2) schmitt trigger
(3) astable multivibrator
(4) monostable muluvxbrat%gf‘;;_%
=
. g
L L@‘% In serass esonance circuit, increasing inductance to twice its value and reducing capacitance to
- w_& “ 3}&1{’1{5 value )

(1) will change the maximum value of current

(2) will change the resonance frequency
(3) will increase the selectivity of the circuit

(4) will change the impedance at resonance frequency
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17, AhighQ coil has

(3) hlgh losses et : . -:_;-
(4) large bandw1dth : ._.

18. Superposmon theorem is based on the concept of .

: (1__) du&llty ' (2) rec1pr001ty
- (3) linearity L (4)--n9nf__im¢arlty
19. Iii the Thevenin equivalent circuit, V,; equals : : -l =

(1) short-circuit terminal voltage
(2) open-circuit terminal voltage

(3) net voltage available in the circuit

(4) voltage of the sburce

20. An independent voltage source in series with an impedance Z ' @ﬁéﬁﬁsfzgi’éilvurs a maximum

average power to a load impedance Z; when : - ”a i)

(1) ZL=Rg (

) = Bt )X N (4’- o

G

21. The minimum standing waves occ@wgvhere rgﬂ%uon coefﬁuent is )

(1) zero S e wm% @M) unity

"% _\%‘ .w@‘“ﬁ;«
@) -1 %;gwﬁﬁmzy i) e
z;@ = L

22 Impedancedﬁ%cfﬁmg over wﬁer frequency range can be obtained 1)

b (1) is constant with frequency

(2) varies inversely with frequency
3) varies directly with frequency

(4) has nothing to do with distortion.on a lossless line
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24. Which of the following methods can be used for measuring power without using IWattmett_:r ?
| 350
(1) one voltmeter, one ammeter
(2) two voltmeters, two ammeters
(3) three voltmeters
(4) three ammeters

25. When large currents are to be measured using DC ammeter, the major part of the current is
bypassed through a : aall <" )

(1) capacitor : (2) resistor
(3) inductor . (4) diode

26. The shunt-type ohm meter is suited to the measurement of

(1) high-value resistance
(2) medium-value resistance
(3) both medium and high-value resistance
(4) low-value resistance
7, |
(1) narrow bandwidth
(2) belter accuracy
(3) cost

(4) better resolution

g Wﬁm':v

QQ,\, The Q _meter is used to measure the electrical propertics of : : { )

(1) resistors only

(2) inductors only

(3) coils and capacitors
(4) capacitors only
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30. The deflection sensit_i_vity of a CRT depends inversely on the . : (B
(.1) separation between Y plates
(2) length of the vertical deflecting plates
(3) deflecting voltage
(4) distance between screen and deflecting plates
31. The CRO is used to measure e
"~ (1) power of the signal
(2) time period of the signal only g % | |
(3) amplitude and time period of the signal
(4) spectral cornponeths of the signal
32. Audio frequency oscillators, operating roughly in the
(1) 0Hzto20Hz
(2) 1Hzto1-MHz
(3) 1 kHz to 1000 kHz
(4) 20 Hzto 20 kHz
33. A non-triggered oscilloscope is one which

(1) has no sweep generator

&&z,& "“"

(2) o et el qmtlonafyﬁ”screen dlSpla)’ -

(3) has a continuously runmng@ e b&%@generamr

()
B Cha TIS%;QPV Ay
s ‘g;@gg‘ 3“%%@?-&’% - vwx:
L Ww g@remam the same
« )

(1) only positive voltage at either anode

(2) positive or negative voltage at gate
(3) positive or negative voltage at gate and positive or negative voltage at either anode -

(4) only negative voltage at either anode
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36. An SCR conducts appreciable current when : =)~
(1) anode is negative and gate is positive with respect to cathode
(2) gate is negative and anode is positive with respect to cathode
- (3) anode and gate are both positive with respcct‘sto cathode

(4) anode and gate both negative with respect to cathode

37. In a thyristor, the ratio of holding current to latching current is GiE)
(1) 04 | @) 25
()] e L (4) 4.0
38. In a 3-phase full converter, the output voltage pulsates at a frequency equal to )]
(1) supply frequency f ' 2) 3f 5
%
(3) 6f 4) 2f p
39. In BJT, the relation between o and [ is - : 3 ‘&g“”)
o
(L) b= (c+1)
: -
(2) B= (ct—1)
: p
®) «= @
B+
4) a= B &
40. antglr eﬁﬁhaSC ISQUIJ;ﬁdG bridge inverter, the lowest order harmonic in the line to neutral output
- volt; _g;(f'ﬂn@1ﬁﬁtz1l frequency output = 50 Hz) is ( )
(2) 150Hz
(4) 200Hz

(1. A single phase full bridge diode rectifier delivers a load current of 10A, which is ripple free.

Average and RMS values of diode currents are respectively : ()
(1) 10A,7.07A (2) 5A,7.07A
(3) 7.07A.5A (4) 5A.10A




ECET (FDH) (Electronics & Communication Engineering)

43.

Resonant mode power supplics in comparison to square mode ones G =
(1) have smaller component count

(2) do not cause over v_oltages

(3) have negligible power loss . .

(4) slower in control action

A delta-connected induction motor being fed by a 3-phase AC to DC inverter and operated in
constant V/f control mode requires during starting a _ { )

(1) star-delta starter

(2) no starter requires

44,

45.

46.

L3 1655 mocLula?mo power is required
c

(3) auto-transfer starter

(4) direct online starter

The message signal contains three ﬁ;equencicg kHz, 5 kHz and 10 kHz resp@c{wdy The
bandwidth of the AM signal is e )

(1) 20kHz ' (2) 5kHz
(3) 2kHz (4) 10kHz «aze

B.W = 2 x Highest frequency component

(1) 0.7
(3) 0.3

Indicate which one of the foll@ n

(1) lower band\gl;dth s I‘tC{UlTCd

(2) bcttu n01§§v§1mmﬁmly is provided

1 “’?‘@%s&

; ;\--\--Lhe transmttted'power is more useful

W; : @1:1 a low-level AM system, amplifiers following the modulated stage must be £t

(1) harmonic devices
(2) nonlincar devices
(3) linear devices

(4) class C amplifier
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48. A, and A are peak amplitudes_of carrier and modulating signal respectively. When A S AL

(N ‘modulation index is 100%
(2) modulation index is zero
(3) modulation index falls below 100%
(4) modulation index is above 100%
49. In a SSB transmitter, ene is most likely to find a
(1) class C audio amplifier .
(2) class A R.F output amplifier
(3) class B R.F. amplifier

(4) tuned modulator

50. A superheterodyne receiver with an L.F. of 450 kHz is tuned to a signal at 120[}}4%{?:“ T

frequency is _
(1) 750kHz (2) 900kHz
(3) 1650kHz (4) 2100kHz

(£ = £, + 2IF)

51. In a radio recciver with simple AGC M -

(1) an increase in signal strength producee morex GC

-3

(2) the faster the AGC 1.11’1"16 con‘;tani the more. auurdte the output

(4) the audio stage gain is nx)rm Iy.eontro]led by the AGC

52, To prevent eveﬂoadmg of {he 1ast LF. amphher in a receiver, one should use

; %3 dne of the main functions of R.F. amplifier in a superheterodyne receiver is to
(1) provide improved tracking

(2) improve the rejection of the image frequency

(3) permit better adjacent-channel rejection

(4) increase the tuning range of the receiver

( _ )
£
()
E 9
()
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~ 54. Frequencies in the UHF range propagate by means of : ¢ )
(1) sky waves
(2) surface waves
(3) ground waves
(4) space waves

55. When electromagnetic waves travel in free space only one of the following can happen to the

( )
(1) attenuation (2) reflection
(3) refraction (4) absorption :
56. In PCM system, the quantization noise depends upon (] |

(1) the sampling rate
(2) both the sampling rate and the number of quantization levels
(3) the Nyquist rate

(4) the number of guantization levels

57. The bit rate of a digital communication system is 36 Mbps“{he m‘oﬂﬁhtlon scheme is QPSK.

The baud rate of the system is 1 ) '
(1) 72 Mbps (2) 68 Mbps -
(3) 36 Mbps Xl 18 Mbps
58. Which multiplexing techmque transml‘is analog mgnal | ; ()
(1) FDM ff;-(2) WDM
(3) TDM (4) both FDM and TDM
59. The 5'andald Ieferencn. antenné”for the directive gain is the ( )
( l)v half—u dvf%gépolf
.‘@‘ Yam antenna contains ( )

(1) one reflector and one director
(2) dipole, one reflector and one director
(3) two directors, no reflector

(4) dipole and two directors
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61. The radiation resistance of a Hertizian dipole ____ with increase in length of dipole (AR
(1) increases
(2) remains unchanged
| (3) attains a maximum and then falls
'(4) decreases
162. The wavelength of a wave in a waveguide ' (5 17
(1) is directly proportional to the group velocity
(2) is inversely proportional to the phase velocity
(3) is greater than in free space ' |
(4) depends on the wavelength dimensions and the free space wavelength

63. The guide wavelength (lg) is related to free space () wavelength and cut-oft wavel

as
11
CIFCIN TS
11
2 5 e ol
) Ay AT AL |
R
G 32 a2 »?
1 _ 1] 95
@ 32 22 2 s -

64. If the peak transmitted po%gr na gadar system is increased by a factor of 16, the maximum

range will be mureased bya factor of £ - )
N e W @) 4
e e, e (4) ]6
e SQSM The biggest disadvantage of CW Doppler radar is that £

(1) it does give target range, but not position
(2) it does not give the target position
(3) it does not give the target velocity

(4) it does not give the target range
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66. Which of the following system is an international system Bl =
(1) INSAT | (2) ATS-6 '
(3) MARISAT (4) INTELSAT

67. A typical optical fiber has i, - ‘ ()

(1) high refractive index core and low refractive index cladding
(2) uniform refractive index core surrounded by variable refractive index cladding

(3) variable refractive index core with refractive index increasing from low value at the centre
of the core to high value at the junction with the cladding

(4) low refractive index core and high refractive index cladding

68. The GSM standard is : ¢ )
(1) first generation cellular networks
(2) second geheration cellular networks
(3) third generation cellular networks
(4) fourth generation cellular nbtworks

169. The 2's complement of 1000, is

(1) o111 (2) 0001
(3) 1000 () (}101 , |
70. Which of the following 1s not an octal m;?hﬁer ? = . C )
0y 19 -
- ® _
71. The complete set q;‘ only those I\;%glc gat;s designated as universal gates is « )
(1) NOT, Ongizdv&ND gates

”*‘&’m

2) XM)R N@ﬁmwAND gates
mt:‘;} NOR and hIAND gates
;ngmﬁg?$XOR NOR and NAND gates
e L gates required to build an haif-adder are « )
;:igw (1) Ex-OR gates and NOR gate
., (2) three NAND gates
(3) EX-OR gate and OR gate

(4) EX-OR and AND gate
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73. Read and write capabilities are available in % (53,

(1) BothROM and RAM

(2) RAM
(3) ROM 5
(4) Latch
74. An n-bit ADC using V as reference voltage has a resoluticn (in volts) of (=)
(Nt (2) Vg2n
Gyt | (4) Vg |

75. In a 4-bit weighted-resistor D/A converter, the resistor value corresponding to LSB is 32 k€. |
The resistor value corresponding to MSB will be

(1) 16 kO Q) 8 kO

(3) 4 kQ (4) 32 kO ;
e LSB
et

76. The mjnjmum number of NAND gates required to implement me»Bo"Qiggn funmon A+AB +

ABCisequal t **;i C )
1 1 . @)%
(3) zero (4)
77. Which of the following ADGJS the fast st type of ADC ¢ Y
(1) Dual slope integrator AD’C .
(2) Flash type @f‘ ADC - o
(3) (}ounter type of ADC
gg(éf)%%‘fcgrat@l ty‘pe of ADC
78 *rgw n-bit binary numbers are added then the sum will contain at the most [
(2) n bits
= b . ,
) (3) 2nbits (4) (n+ 1) bits
79. The 8051 microcontroller has ; [
(1) one bus (2) two buses
(3) three buscs (4) four buses
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80. The number of interrupts available in 8051. microcontroller 2 =
(1) five - : (2) six
(3) eight (4) three
81. The 8051 isan __ microcontroller . _. f ( )
(1) 16Dbit : ' (2) 32bit
(3) 64 bit | (4) 8bit e
82. The 8051 microcontroller inc]udcs.an instruction set of  operation codes. ()
(L) 245 . (2) 255
(3) 250 (4) 260
83. The 8051 microcontroller consists of )
(1) 256 bytes RAM |
(2) 512 bytes RAM
(3) 128 bytes RAM
(4) 64 bytes RAM o
84. The USART accepts data characters from the LPU k= )
(1) in parallel format and then converts t_hu.,m into a eonu-nuouq scrial data stream
(2) in serial format and then conve;ﬁa: :hém into a parallel format data stream
(3) in parallel format and aﬁ: e rtamé@ay transmits as a parallel data stream
(4) in serial format and aﬁég; rtaa_g?deldy transmits as a serial data stream
85. The pcnphe;:aﬁ;i m’?erface contmTier 8255 has  separately accessible ports. ()
(l)____..thrge M?::%‘ (2) six
PO wo - P (4) cight
g ;;”I‘ha number of operating modes of 8257 DMA controller (G
' 2) 6
(4) 3
The number of addressing modes available in 8086 mucroprocessor (
(1) 10 (2) 8

3) 6 = 4 12
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88. The 8086 microprocessor is a £33
(1) 8-bit processor :
(2) 16-bit processor
(3) 32-bit processor
(4) 64-bit processor
89. A complete television signal consists (o) R . {57
(1) cameral si gnéll
(2) sync pulses and a sound signal
(3) a video signal and sync pulseé,
(4) a coniﬁositc video signal and sound signal
90. Interlacing is used in TV frames to
(1) avoid flicker
(2) ensure scanning of all lines

(3) produce iilusion of motion

(4) ensure scanning of all lines and produce illusion of motion L

91. In TV system, equalizing pulses arc sent during _

(1) horizontal blanking
(2) horizontal retrace

(3) serrations

(4) wvertical blanking _
92. InTV mgnds,g;he colour bu;;st is uq.,d to _ =y
(n mterf”ab _@a&h horuonta] line

. ’;?[ an(f Q phase correctly

._%\ %\&

)Mmamtdm the colour sequence
£ e
£

*{%%)?%SYHLhTOﬂ]SC colours

3. &'The resolution of a TV picture is determined by : ' )

(1) video bandwidth
(2) video amplification factor
(3) the number of frames scanned

(4) the output of the video detector
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- 94, Altenuation will be more in : ' ' (e
(1) multi mode fibers
(2) single mode fibers
; (3) multi mode and single mode fibers - .
(4) single mode fibers of 8 um core diameters
95. Star topologies are operated in : )
(1) half duplex mode only I
(2) full duplex mode 6r11y
(3) simplex mode only
(4) halfor full duplex mode

96. Datagram switching is done at the

(1) data link layer (2) network layer
(3) transport layer - (4) physical layer
97. Which of the following reduces the probability of collision
(1) - p-persistent
(2) [-persistent

(3) non—persistent ey

98. The multiple access technique used m'%reless Iocal arca network 1s G D
(1) CSMA '
(2) CSMA/CD
(3) CSMCA:“”

(4) CSM A Wfth%'-persgstcnt

. i
99. X. 23‘15‘;& vos W ()
o G 5 :
E 9.7 packet sw1tth1ng, network
= 1 %W-\&%&'w&«w :
Rty W@) “virtual- circuit switching network
i‘f’g‘%@& 2@3‘&0
" (3) circuit switching network

2 *’?““W
e

L (4) frame relay
100. The ATM standard defines ( )
(1) five layers (2) four layers

(3) three layers (4) seven layers
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